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Condition HLE 7S AL hy 6,000 6,000 6,000 6,000
=TT /KW 130.0 130.0 130.0 130.0
Heater 8%F KW 14 32 14 32
T AH|IMH KW 9.8 234 8.4 19.2
HZtHeating AlZt hy 3,750 3,750 3,750 3,750
CiZt AH| == kWh/y 36,750 87,750 31,500 72,000
Of| LA o|E| 7t MEH|S HHAER! y 478 11.41 410 9.36
EolH| S22 ST KW 0 0 3.75 75
T AH|IMH KW 0 0 2.2 52
HZtHeating AlZt h/y 0 0 3,750 3,750
CiZt AH| = kWh/y 0) 0 8,250 19,500
SE2| A7t MEH|E HHAER! y 0) 0) 1.07 2.54
e kgf/cm'g 0.9 0.9 05 05
U= AH|HE KW 6.2 13.8 34 77
HZE 2 AIZE hy 6,000 6,000 6,000 6,000
CiZt AH| == kWh/y 37,200 82,800 20,400 46,200
olILX] UAEA AZE M=HIE  HHakRl/y 4.84 10.76 2.65 6.01
a2 Purge Airgf m’/h 165.6 403.2 70.2 109.8
== %47t Cooling AlZt h/y 2,250 2,250 2,250 2,250
Sl Al Y7t Purge Aird m’/y 372,600 907,200 157,950 247 050
ADH|IZ Q=2 7| 2Tt KWh/n 0.0990 0.0900 0.0990 0.0900
Purge Air M&ZF 2t kWh/y 36,887 81,648 15,637 22,235
A2t Purge AirH|2 HHOR] fy 4.80 10.61 2.03 2.89
TOTAL ¢t AH| =S KWh/y 110,837 252190 /5,787 159935
TOTAL A7t 0l X| H|Z HHOFRI y 14.42 3278 9.85 20.8
12t oI K| "L KWh/y 127,305

A2t oI K] =2

HErRl/y

16.55




Ct. 7ICH=S 1}
AH| X AH| = L 2AIIA
sitas . SEIC EXH| EX}$|47|2t ey
=9 = [toe/H] EE [H] =
[IMWh/H] A [tCO2eq/ ]
127.31 2126 2915 16.55 30.00 181 58.34
(1) ALt 7|1E
(71 20214 = M2ETH 130.0(2l/kWh)
(L)) 2t 7S AIZIE & 2A HIZARZ AR

(2) 217t Tz

=127.305.0(kWh/2)
=127.31(MWh/'H) x 0.229(toe/MWh) = toe BHAHH|2
=2915(toe/H)

(3) HZt MH| HMHEU=
= AZFEEZAZHKWH/H) + IHM J HZEARSZ(Wh/E) < 100(%)
=127 305(KWh/'H) + 598 749(KWh/H) x 100(%)
=21.26(%)

= AZH = FHERWh/'E) x 20219 B =TI RI/KWh)
27,.305.0(kWh/H) x 130.0(&/KWh)

(7) 2A7IA M2z
= EEA N (tc/H) x (O~ ErA BRI/ EIAEXIES)
=1591(tC/H) x(44/12)(CO2eq/C)
=58.34[tC0O2eq/H]



